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CVIS 338 A-15

B.Com. VIth Semester Degree Examination -
COMMERCE
(Cost Accounting - IT)
Paper - 6.7

.Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:

Simple calculator is allowed.
Section - A

Ton - @
Answer any ten questions: - (10x2=20)
Weson B3P, GUZBD,
1) What is cost sheet ?
ﬁz&m D¢3, ouderd ?
2) Give four incomes which are excluded from cost sheet.
5%, e300 WORTE ey, BWIOLNYR), BXOX.
3) How do you calculate the ton kilometers ?
| L dS0euetidRy, Bert FoBrbBOIVZED 7
4) What are the types of contracts 7
wIOTT AP BF0NTTH) 7
5) What is notional profit.
008 oy HowdeRd ?
6) State any two characteristics of process costing.
3,303 ES:.L 3!:;53@ VR vﬁﬂmﬁ@aigl 3920,
7) What is abnormal loss ?

umai:aa% 8=, 2088eR0 ?
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8) What is marginal cost ?

B0l S, HorTerd> ?
9) State any two assumptions of marginal costing.

©03% éﬁuaaﬁﬁd DVR> GUBNYTY, 3920.
10) What do you mean by variance analysis ?

- G@ANYON 2308 dosded ?

11) What is cost driver ?

31, wWeT SoTdeRd 7
12) State the sub-variances of material cost variance.

Sotsedaberf som, SedobIs evaScdobB Ry 390

Section - B
N - W

Answer Any Three of the following: (3x5=15)
Uezr 00T, euddD.
13) Mahindra Travels runs a fleet of buses as follows:

No of buses _ Seating capacity
10 40 passenger
10 60 passenger

Each bus makes 2 trips in a day covering distance of 50 kms. On an average buses are
full on onward journey but 75% seats are occupied on return trip. Assume that the
company operates a fleet for 30 days in a month. calculate total passenger kms for the

month.
m&oom@ 201t ﬁon;ojw 81 sYsori zo;ig\}rieiﬁ._}_‘_ mmgcs.
WAONY 3023 Z0deedss Foal
™ 3] J 3
00 Q0 I,0ieE00
00 20,0300

I3 w DuE, 9 LITed B0 ISRV WHATITY, FARIW. 3TRDIRN
Bwerien wRTD BRIF 300DCP. BrY SO0 widmer 2#% I03ReITT
0360390, 2,080 3origd 20 BISNY 5O WINY FALFITFLIZS 0T
B&ETORNG. Wwid), TYR0KT SelaedoetCNYR) ForL&HBALD.
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14) A contract is commenced on 01-01-2014. On that date plant purchased is Rs.1,00,000
on 30-09-2014 plant costing Rs.40,000 was sold for Rs.38,000. Depreciation is
charged on plant at 20% p.a. Calculate the profit or loss on sale of plant and plant at
site on 31-12-2014.

BPe0% 00.00.9009 Tord wok wIOFE Foobe ;Cordzend. & BIG
ge. 0,00,000 aodneE0en DVeBIUNE. Broos 20.06.2009 Tord Tk
90,000 uodh (Suew) ao3RBICNITY, TL. 20,0008 =0
SnBeeo). obodectssnned Soeed Be. 30 Tod wéﬁmﬁ? ~3ﬁ@013ﬁb
3tabenndd. JInoed IPRTBOT FowMNT e arﬁafa B> dJ-'i_g
.Bme08 2.0.09.900% dord> 2030803 0H03AEBFONT IFPQTR), For*ROWD.

15) 20000 units were introduced in process X. The total cost incurred in this process was
Rs.5,90,000. It is ascertained that 10% is scrapped which relates Rs.25 per unit.

Calculate the normal cost per unit of process X. http://www karnatakastudy.com

2pAF X 9, 90,000 odndeinds), edSBrennd. & Zgababd Mwerd

wbd) e G, #,60,000. mBRFN 00% mBRY; FeodRrOZY. et

BT IRNER, O, 9B B3 oIS IRvets IRBCALTT. F§oD
X3 53 adodks euseEdod WIobE) ForRILBOWD.

16) What do you mean by Activity Based Costing ? What are its objectives ?
BELIWE vped3 Jy drad T3 doudedy ? ¥GET evdeBnvessy) 7

~17) What are the limitations of Budgetary Control ?
| w2ld okl a’tﬂméuh 23Dy, BIOXD.
Section - C
TN - T
Answer Any Three of the following. (3%15= 45)
ez FoeUs, GLZDAD.

18) Calculate (1) P/V Ratio (2) Break-even-point (3) Margin of safety (4) Sales reqmred
to earn a profit of Rs.240000 (5) Profit when sales are Rs.30,00,000 from the
following information.
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Direct Material Rs.4.50 per unit

Direct labour Rs.3.00 per unit
Variable overheads Rs.3.00 per unit

Fixed costs Rs.6,00,000 per annum
Selling price Rs.16 per unit

Trade discount Rs.1 per unit

Units sold 1,40,000 .

YRS InH300T SwoDTFHNVRY, FoBdRRCWD. 0) P/V Ratio 9) "33
Dob 1) RCdFFe JdS @) Te. 3,920,000 ooy nosen Wesald B0
#) On. 20,00,000 IRoets i ¢rbs ooy

Sed TR de. 930 I3 ododert
Sed 800 dwe. 2.00 I3 ododert
wHeRrS Bdees, DBFN Q. 2.00 I3 ododesrt

28 Sued dw. £,00,000 @3 030kt
SPoeki 13 de. 0800 I3 aboder
M0 Aecd de. 0.00 33 alodesrt
P03 IRBE ododtndd gdwe. 0,90,000

19) From the following forecast of income and expenditure. Prépar a cash budget for the

months of January to April 2015

Month | Credit| Credit | wages | manufacturing | administrative| Selling
Sales | Purchases expenses expenses | expenses

Nov 30000] 15000 3000 | 1150 1060 500

Dec 35000 20000 3200 | 1225 1040 | 550

Jan 25000 15000 2500 | 990 1100 600

Feb 30000( 20000 | 3000 | 1050 1150 620

March 35000| 22500 2400 | 1100 1220 570

April 40000{ 25000 2600 | 1200 1180 710

Additional information

1.  The customers are allowed a credit period of two months.
2.  Adividend of Rs.10,000/- is payable in April.
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3. Plantpurchased on 15th January for Rs.5,000/-
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Machinery purchased on 1 March & the payments are to be made in monthly
instalments of Rs.2000/- each.

N

The creditors are allowing a credit of 2 months.
Wages are paid on the 1* of the next months.
Lag in payment of other expenses is one month.

8. Balance of cash in hand on 1% January 2015 is Rs.15,000/-

B 3YNT umob I DBFS vomesdord wWITO 00 Bod v I00AT
SoNS SR Jword IZI) 3aiPOID.

3orieb evldd ovgd sRd B Bive BBOSIT menleriXia g
R0k |  DOH ézﬂu ;5%{3 dzi

SSod | 30000 | 15000 | 3000 | 1150 1060 500
aowd | 35000 | 20000 | 3200 | 1225 1040 550
=330 | 25000 [ 15000 | 2500 | 990 1100 600
Fuy=0 | 30000 | 20000 | 3000 | 1050 1150 620
Seue | 35000 | 22500 | 2400 | 1100 1220 570
anef | 40000 | 25000 | 2600 | 1200 1180 710

a§t3§ S04

0. Mm@t 9 one IR0 AeBNT.

9. o3ef 3oriwd de. 00,000 wegieod EpELeTING.

2. 0Se HISO adomo B, 3,000 NY 0bodRBECRNYR) DOEBIDNG.

9.  SouF 0 Sor 003, DBEBRNG. BT one §035 Be. 9,000r¥D) I3 dorid
Qediesond.

¥, @50t 3ot 9 dorid ZRoab AeBRIT.

b RS0, S00BS 3orid SeCOB0L BIGOR BRI,

2. w30 DWFRYRY, 206> onY BT BRI

6. BDI0E 0.0.900% Sord K0T Brc B¢, 8. 034,000.
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20) - Calculate the Material price variance, material usage variance and Material mix variance
from the following information.

Matenal Standard mix Actual mix
Qty Rate Amt. Qty Rate Amt.
A 350 10 3500 300 10 3000
B 250 15 3750 325 14 4550
600 7250 625 7550

o Fnt mesmﬁ Seé303000 13.3}} 23es ;3336,9 ASONNY evsaleend
CECFPACS, —am?j,rie} 80T FIArdR) ForbBaD.

FOSONNLOIDF A, SBAT F,e §,% o8
Qty Rate Amt.  Qty Rate Amt.
A 350 10 3500 300 10 3000
B 250 15 3750 325 14 4550
600 7250 625 7550

21) Product Z is obtained after it passes through three distinct processes. The following
information is obtained from the accounts for the month ending 31-March-2015.

. Particulars Total Process
. I I 11
Direct material 7542 2600 1980 2962
Direct wages 9000 2000 3063 4000

Production overheads 9000 -- - -

1000 units at Rs.3/- each were introduced to process I. The output of each process
passess directly to next process and finally to finished stock, production overheads
are recovered at 100% of direct wages. The following additional data were obtained.

Process output "% of normal loss value of scrap
(units) to input per unit (Rs.)

I 950 5% 2

Il 840 : 10% 4

1| 750 15% h)

Prepare process accounts.
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293 BYodrie So30 Z IW[), vsfRoeondy. BI0s 20.2.900%F
3011w2030G0R0 RS B FINT Inb3ay BHALEROWD.

33 k), 3 0bneo
| i i
e oA 7542 2600 1980 2962
Se0 500 9000 2000 3000 4000
eusaETe Suri 9000 - - -

Segosoh Fobobd 0000 awRLINYR), BN & oE8, VISBRORNGS.
om0 Fyobod evdg wdeom Z3abob wRonaIRA 200 BRBNIT.
g8 Domdn Srrmorsd. qSBTO BFH), TRG0D Hed N00% Bod
BoweoNs 8 NS BUITD IPHIAVT, SBOHSING.

x,30d NZ TS FDIOF TR scrap

(units) % _ (Rs.)
I 950 5% 2
I 840 0% 4
II 750 15% 5

225 Fdabny wodnvay, SBoNd.

22) The following is the information relating to 2000 radios of M/s Nariman Traders.

Opening stock of raw materials Rs. 20,000
Purchase of raw materials Rs. 5,00,000.
Closing stock of raw materials Rs. 40,000
Wages Rs. 7,20,000
Factory overheads Rs. 3,00,000
Depreciation Rs. 3,60,000 |
Rent o Rs. 60,000
Selling expenses Rs. 1,80,000
General expenses , Rs. 1,20,000
Sales Rs.24,00,000
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" The company plans to manufacture 3000 radios during 2015. Prepare a statement:
showing the price at which each radio should be sold so as to earn a profit of 10% on
sales. The following additional information is supplied:

a) Price of material may go up by 20%

b) Wage rates may rise by 5%

¢) Factory overheads will rise in proportion to combined cost of materials & wages.
d)  Selling expenses per unit will remain the same.

M/s 8008 @0, d=d 9000 380308 BR&H300 FYNT0CHIT.

ﬁmﬁmmf}ob Z9,00530 3&% _ - O 20,000
g1, RNAY DOCD | G0.5,00,000
259 HOONY 030 Sey, cw. 40,000
3o ' C.7,20,000
BOTOF N DWIOE " 8».3,00,000
3389 6.0.3,60,000
weln I gw. 60,000
DT DWOF 8.1,80,000
wRIRE, DBF 5.0.1,20,000
SJ00E3 05.24,00,000

gosdodn 900% Od 2000 BeRodened) evedom rdabey #eold. -
900%Be AT, 00% SHoLE Hoes ooyl WASed WS APedren He,
Je3obs), 303D, ATHRN B FINT BT IR&H300B), TPGFRNS.
a) BwR mRONMY WS 0% B

b) Bedod WOR #% BRd:S

c) Gewprmab MOF T, mSoN, Fod) BRJAD wed), aJﬁrabaoaﬁ
ézsaﬁdﬁd

d) Soovetdd DWornY T oin&)wﬁ@eﬁ alnmd wigessainr)he,

a00
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